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The planner identified that the pump required four widgets as material on the work plan. An
electrician was issued a quantity of four widgets from the storeroom and was able to
complete the work using only two of the four widgets The two unused widgets were
recorded as returned.
 
How would this be reflected on the Actuals Tab of the Work Order?
 
 
A. There would be a single line Item entry with a Transaction Type of ISSUE 
B. There would be a single line item entry with a Transaction Type of RETURN 
C. There would be a single line Item entry with a Transaction Type of ISSUE/RETURN 
D. There would be two line items entries one with a Transaction Type of ISSUE and
another with a Transaction Type of RETURN 
 

Answer: D

 

 

 
A company has users which perform a variety of roles from Planning, Purchasing,
Maintenance and Management. The administrator needs to define which security groups to
access which KPIs.
 
What application is used for this?
 
 
A. Users 
B. KPI Manager 
C. KPI Templates 
D. Security Groups 
 

Answer: D

 

 

 
Which application must be used to create services that can be selected from a value list on
a purchase order?
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A. Service Items 
B. Service Records 
C. CommonServices 
D. Standard Services 
 

Answer: A

 

 

 
A company needs to add the unit of measures for items, tool and services. In which
application can this be done?
 
 
A. Receiving 
B. Storerooms 
C. Asset Templates 
D. Request for Quotations 
 

Answer: C

 

 

 
A company has a requirement to have items in the storerooms to be reordered
automatically.
 
How can this be achieved?
 
 
 
A. Reorder Escalation 
B. Reorder CronTask 
C. Reorder - Reorder Items 
D. Reorder Direct Issue Items/Services 
 

Answer: C

 

 

An administrator has a requirement to create 44 new assets that each share a common
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configuration Which application can do this with a single action?
 
 
A. Assets 
B. item Master 
C. Classifications 
D. Asset Templates 
 

Answer: D

 

 

 
A company has a requirement to report on actual labor hours, materials, services and tools
used as work progresses on a work order. What is the earliest point in the basic life cycle a
user can start reporting?
 
 
A. APPR 
B. COMP 
C. WMATL 
D. WAPPR 
 

Answer: A
Reference: http www-01 ibm com/support/docview.wss?uid=swg21683844
 

 

 

 
A user has created a work order against asset ABC. A technician determines that asset
ABC is faulty and it needs to be replaced. The technician replaces asset ABC at the
operating location with asset XYZ from a repair location.
 
What happens after the swap?
 
 
 
A. Asset locations have been swapped. 
B. Asset identifiers have been swapped 
C. inventory locations of the assets have been swapped 
D. The faulty asset ABC status at the operating location gets updated to OBSOLETE. 
 

Answer: A
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An engineer schedules a very complex asset report developed in BIRT. The engineer
needs to set a feature to be able to retrieve the report contents from within Maximo for very
large files that are restricted by the email server.
 
Which feature does this?
 
 
A. Direct Print 
B. Email with a File URL 
C. Email with a File Attachment 
D. REPORTSCHEDULE cron task 
 

Answer: D

 

 

 
A fixed-schedule PM needs to be set up.
 
What other setting need to be selected in addition to the frequency value?
 
 
A. Alert Lead (DAYS) must equal 0 
B. Alert Lead (DAYS) must be greater than 0 
C. use Last Work Order's Start Date to Calculate Next Due Date? checked 
D. Use Last Work Order's Start Date to Calculate Next Due Date? unchecked 
 

Answer: C
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